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Answer either in English or in Assamese.
1. Answer the following questions : 1x8=8

fAsfeiRs ezor ol ¢

(a) State the law of demand.

vifew R Ire 39|

(p) What is a market ?
I 52

(0 What is market supply ?
IS Qo 2

(d) What is inflation ?

Wﬁf?
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(e) What are the components of aggregate
demand ?

ANfaT vifznR SRR i &0

(f/ In the consumption function what is
total consumption when income is
Zero ?

(oI5 ToRTo ST ¥ SRS (o] il s e

(g) Give an example of progressive taxation
in the context of India.

SO (AFoe TR AN T4 QiFee TvizRd
|

(h) Define fiscal deficit in a bu.dget.
Aceos [Kew iibe e |

2. Answer any six of the following questions.
2x6=12

fAafEe emiR] e 561 ©el ¢

(a) What is meant by economic efficiency ?

gftafos wroR o F2

(b) Define Marginal Rate of Transformgtion
(MRT).

RGN AT ] gt Al
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(c/ Why is a firm said to be a ‘price taker’
in perfect competition ?

sif afstafsers i efsvie dg w3 azd
Aol (QeT 72

(d) Explain briefly the concept of
consumers’ surplus with a suitable
example.

o) ?IQHQf@W%ZT@WW SEC)|
BT I A |

(e) Give Hicks’ definition of income.
23" wIR W@ JE 74|

(/) What constitute the domestic territory
of a country?

QA WWW%T%%W‘iﬁ?

(g9 What is the condition for equilibrium
In an economy ?

Q2 TNIfel SIFeANR 5% fF 2

(h) InterpretY = C + I 1n the ex-ante sense.

Y = C + I3 dojiffoed I 41|

- () When is a tax said to be buoyant?

Ry I, (O URE TNl & Qe
A2
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() Differentiate between a direct tax and
an indirect tax.

ATF I WF AT FW ALy e

3. Answer any four of the following questions :
Sx4=20

FefRe ez [t sifdore Ser faat ¢

(a) Point out the distinction between shifts
in the demand curve and movements
along a demand curve.

IRl (IR ZINRRE (@LMITEER W HIfRl e
AL TYSA |

(b) What is meant by cross price elasticity
of demand ? What will be the sign of
the elasticity in cases when the two
goods are of substitutes and when they
are compliments ? 3+2=5

viizniR fods wr oo 3o &
o 2 e Wi +fRegs AmaR cvae a?
Ffegrivor oz & 232

(c) Bring out the main points of distinction

between a perfectly competitive market
and monopoly.

1¢ﬁmﬁwm@«am
WWWWWI
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(d) How is the market demand curve
derived from the individual demand
curve ? Explain diagrammatically.

gieste sifznt @R #IF1 ITR GIAERA &FEE
.@%‘W AN ? Ba TS I 1 | -

(e) Define unemployment. How is the

unemployment rate calculated ?
2+3=5

ﬁa@aw\wﬁmﬁ?@ﬁiﬁ mﬁw
6\%@%@1‘@9

(/ What is a Multipliér'? [llustrate .its

operation usmg an illustrative example.
2+3=5

a9 &2 W%WWwemé’mmm
<1 |

(g What is ‘tax’? Mention a few important
features of taxation. 1+4=5

T B2 1 R 37 @R SrEd 11|

(h) Explain regressive taxation with the
help of a diagram. State two merits of
regressive taxation.. 3+2=5
o TS FHZPTIH 99 QIR 1Y 91 | 9]
F99 701 R4 S 1|
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4. Answer any two of the following questions :
10x2=20

F=fERe emprza A gore Sl & s

(a) Explain the idea of opportunity cost.
Define and draw Production Possibility
Curve (PPC)? What do points outside
and points inside the PPC signify ?

3+3+4=10

IS AL Q=N G TN | B TR ([
el foa wisl @3 @EIMeR IfeRe =i

foos R & spae

(b) Explain how equilibrium is determined
in a competitive market ? Under what
conditions will the equilibrium be
stable ? - 7+3=10

AfsEaiierEs IoiTs ey & w Ruffks
R K IS FIN S AGICRUE RS S by i | s e

(c) Describe the circular flow of Income in
an economy.

G HLIfow SRR JSI 2T 369 /41 |

(d) Distinguish between the current
acecount and the capital account of the
balance of payment. Describe the

componernts of the current account.
4+6=10

1 (Sem-1) ECO/G 6



BIKALI COLLEGE LIBRARY

T Tyee vlere Zpie oire JELR) ZoleR
o] 31 1| HfeTe Bpiv S Rawe
W

(e) Describe the structure of a budget. How
is the revenue account different from
that of the capital account? 6+4=10

Weﬁwﬁaﬁ«qﬁmlwﬁmﬂﬁ@
o175t & v @t e
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